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FHSEE BEETFRHLEDORER
KERHTAEES
(%3t)

BEEDTEE

BEEFAEHE = BEORE

XKEETEBEE=A+B—C(—D)
A=RBAE - ZEREEEF ZERRILEF —ZRE-PFEREXEF
B=RAtAREORES
C=iRENE & — 1R TR — 12RRER
D=fZHFReEET 2%

KEEORE=ERXRNROE - ZRTERRE (EXRNE L) DE
TMN3EE]

A= 693,018423H—611,172,923F —0F —0F —0F=81,845,500

B= 0M

C= 1,573,075,502 —0F —0M =1,573,075,5024

D= 0M

EELDAEXE = 81,845500H+0M—1,573,075,502F-0M

= A 1,491,230,0021

KEHFIREE ST R EETRENRELTO RV OEEDLELL
(A DNHEAERNEEEREREETREEHTET HHODEE F1m2kY)

EEXDRE = 1,197,795,497M—0M
1,197,795,497H

A 1,491,230,0024
1,197,795,497H
= A 124.50%

EEFRLER =

KEHDGEEFEEFRENREEL TGN O, AROBEEN—1E45,

(%)
SH3FEERMMAFERS 5,325,565,524 1
BERBRE 5,249,311,207H
g; HERUBE (MARICEHIIERE12EKITIRETHEE) 76,254,317
LEELst oM
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